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BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet, Any omission/discrepancy will render the
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1. What is the solution of

10g|0|1—{1—(1x2)-]}-1] : =17

(@ x=100
(b) x=10
(c) x=1
d x=0

. If A is an integer and «, f are the roots

0f4x2—16x+§=0 suchthat 1 <a<2

and 2<f<3, then how many values
can A take ?

(a) 3
(b) 9
(c) 14
(d 15

62+T"2 +82 +92+102

N7+443 =4 +243

. What is equal

to ?

(a) 330
(b) 340
(c) 355
(d) 366

f x2=y+z, yY=z+x and zZ2=x+y,
then what is the value of

1 1 1
+ + ?
x+1 y+1 z+1

(a) -1
(b) 1
(c) 2
(d) 4

SDC-S-TRD - A

5. What would be the maximum value of O

in the equation
SPO9+3R7+208=11147

(a) 9
(b) 8
(Cj 5
(d) 4

. A is a set of positive integers such that

when divided by 2, 3, 4, 5 and 6 leaves
the remainder 1,2,3,4 and 5 respec-
tively. How many integers between
0 and 100 belong to the set A ?

(a) No integer
(b) One

(c) Two

(d) Three

. In an examination, a student was asked

to divide a certain number by 8. By
mistake he multiplied it by 8 and got the
answer 2016 more than the correct
answer. What was. the number ?

(a) 252
(b) 256
(c) 258
(d) 260

. Iﬁ the quadratic equation x*+ ax+b=0,

a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values
of @ and b are possible in order that the
quadratic equation has real roots?

(a) 6
(b) 7
(c) 8
d) 16

https://www.pygonline.com



1. 1ogm[1—{1—(112]"'}_1} i

A TR ?
(a) x=100

Cafe A wh qufe ® R o, powHERT
4x2—16x+%=0a??1§f?ﬁm%%
l<a <23R2<B <38, AAS Fa #m
BEFA e ?

@ 3

®) 9

(c) 14

@ 15

62 +7% +82 +9% +10%

el Aara R
(a) 330
(b) 340
(c) 355
(d) 366

AR P=ytz, ) =z+x AR A=xty R,

: + 1 + 1 H A T & ?
x+1 y+1 z+1 '

(a) -1
() 1
(c) 2
(d) 4

5.

E?\

TR 5P9 + 3R7 +208 = 1114F Q&1
sftreras W= | T ?

(a)
(b)
(©)
(d)

S L oo WO

A I TR quiRt, W 2,3,4,53R 6 8
frafsa R 9w | @AW 1, 2, 3, 4
3R 5 Juhd BrgA &, H TF T € |
Tg=ad A # 0¥ 100 F &= & fora quries
B 7

(a) g orler el

(b) T

() o

@ @

. frelt oden A, e fdf @ s fafssa

e =i 83 fawifora ae & ford gt 7w |
et & IE T H 87 T a e Sk
IR T8 IR A 2016 it wiw fFar | @@
e w4 49t ?

(a) 252

(b) 256

(c) 258

(d 260

. ﬁ;’ﬂﬁﬂﬁa?{ﬂxz+ax+b=0ﬁaﬁ'( b,

qgeag {1,2,3,4} ¥ et ot 7 &t
THhd & | ¢ 3R b & "H & W fFan =g
gwa & o fog foema awiieo & o=
qrEdfaE o ?

(@ 6

b) 7

(c) 8

d) 16

A — SDC-S-TRD
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9.

10.

11.

12.

The sum of the squares of two positive
integers is 208. If the square of the larger
number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers 7

(@) 2
(b) 3
{c) 4
(d) 6
Let 4 = {7, 8 9, 10, 11, 12} and
B=1{7,10, 14, 15}. What is the number

of elements in (A-B) and (B-A)
respectively ? '

(a) 2 and 4
(b) 4 and 2
(c) 2and 2
(d) 4 and 4
A boy saves Rs. 4-65 daily. What is the

least number of days in which he will be
able to save an exact number of rupees ?

(a) 10
(b) 20
(c) 21
(d) 25
Two men, 4 and B run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how often does the
winner pass the other ?

(a) Once
(b) Twice
(c) Thrice

(d) Four times

SDC-S-TRD - A

13.

14.

15.

16.

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion ?

15
1600
23

(a)
(b)
© =
@ —

If « and B are the two zeros of the
polynomial 25 — 15x + 2, then what is
a quadratic polynomial whose zeros are
(20)" and 28)" ?

(a) x*+30x +2
(b) 8x% —30x + 25
(c) 8x*—30x

(d) x>+ 30x

What is the remainder when 2'% is
divided by 101 ?

(a) 1
(b) 11
(c) 99
(d) 100

In an office, one-third of the workers are
women, half of the women are married
and one-third of the married women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of married women to married men ?

(a) 1:2
(b) 2:1
(c) 3:1
(d 1:3
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9.

T AT qUITeRT o FT T ARTEA 2082 |
afe =gt wen & i DI Ten 18T E,
aql FIEt 3R DA gt 1 AR R ?

(@) 2

10.

11.

12.

(b) 3
) 4
@ 6

AW ST 4 = {7, 8,9, 10, 11, 12} 3R

B=1{7,10,14,15} & | (4 - B) 3R (B - A)
o yegal i geat wAY: ;TR 7

(@) 23R4
(b) 43R2
(¢) 23R2
(d) 43R4

T g Wiafeq 4.65%. F=mar & | feAt
g e gen w11 e, e 9w dfe
Tt Y gedr s g ?

(a) 10

(b) 20

© 21

d 25

2 e, 4 3R BTH 0-25 km F MARR
99 R 4 km F <ig A ¢ | Al AR
THFIR T SATE 5 : 4, TSI arer gak
¥ forat IR 3m fraeaT € 7

(a) T& &R
(b) TSR
(c) dF IR

(d) ¥R R

5

13.

14.

15.

16.

frafafes # @ o9 @t w e gen
A AR IR e WER ATt
27
15

@ Teo00
23

8

35

50

17

6

(b)
(c)
(d)

afg @gag 25x7 - 15x + 2F 3 YOS o AR
p &, @ ag feura sgug 7 g fas
& (20)” AR (28)' € ?

(@) X+30x+2

(b) 8 —30x+25

(c) 8x*—30x

(d) 2+ 30x

& 2% &y 101 ® fawfa ferm smo, @
A FAT BT ?

(a) 1

®) 11

(c) 99

(@ 100

wfgamet & @ syt Afgend fafea € ik
T=2 ¥ | 3fc yeul & @ dW-9E ey
fomnfea i sk ue-foerd fonfea qeai &
=4 &, @ fanfeq wfeenst & faarfea
TEST o AT FIT HIS © ?

(@ 1:2

b) 2:1

(c) 3:1

(d 1:3

A - SDC-S-TRD
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17. A can do 50% more work than B in the

18.

19.

same time. B alone can do a piece of
work in 30 hours. B starts working and
had already worked for 12 hours when
A joins him. How many hours should
B and A work together to complete the
remaining work ?

(a) 6 hours
(b)
(c) 4-8 hours
(d) 7-2 hours

12 hours

When the speed of a train is increased by
20%, it takes 20 minutes less to cover
the same distance. What is the time
taken to cover the same distance with
the original speed ?

()
(b)
(©)
(d) 80 minutes

140 minutes
120 minutes

100 minutes

A candidate scoring x% marks in an
examination fails by a marks, while
another candidate who scores y% marks
gets b marks more than the minimum
required pass marks. What is the
maximum marks for the examination ?

@ 100(a +b)
x=y
) 100(a - b)
X+ y
©. 100(a +b)
y=x
@ 100(a - b)
xX=y

SDC-S-TRD - A

6

20. If p and g are the roots of x*+px+g =0,

21.

22.

then which one of the following is
correct ?

(@ p=0orl
(b) p=1 only
(c) p=-2o0r0

(d) p=-2 only

The cost of 2-5 kg rice is Rs. 125. The
cost of 9 kg rice is equal to that of 4 kg
pulses. The cost of 14 kg pulses is equal
to that of 1-5 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ?

(a) Rs. 2310
(b)
(c)

(d)

Rs. 3190
Rs. 4070

Rs. 4620

Which one of the following is correct in
respect of the number 1729 ?

(a) It cannot be written as the sum of
the cubes of two positive integers

It can be written as the sum of the
cubes of two positive integers in
one way only

(b)

It can be written as the sum of the
cubes of two positive integers in
two ways only

(c)

It can be written as the sum of the
cubes of two positive integers in
three ways only

(d)

' https://www.pygonline.com



17. UF G99 @9F i 4, B & 50% it s &

18.

19.

TRAT & | B 5%l UF & &b 30 He H W
R AHAT & | B F IF FAT B, IR 34
12 9 T FT4 g 91 & 15 4 I A9
firera i e o € | & g0 S @
R A F o 4 3k B w5 frera
& HE ?
(a) 6 @
(b) 12 =2
(c) 4.8 W2
d 72 9

T U AL T =19 20% TG ¢, A 98
T g 7 FA 7 20 Tz w8 At 2 |
gt ArEaies T 8 IE T g B T
| # forawn awg s ?

(a) 140 e

() 120 fime

(c) 100 frme

@) 80 fme

fopet aten # T s x% 3ieh WTH AT
? 3R g et ¥ H B AT 7, Al GO
vl S yY% 37 W A § I FAqH
AATF I 3Rt § b AF AfE TH B
3 | qhen F arfiean o 1 € 7
100(a +b)

x=y
100(a - b)

X+ Yy

(a)

(b)

100(a +b)
V=X
100(a - b)
x—y

(c)

7

20. afe P +px+tg=0F gA p 3R ¢ &, @

21.

22.

fremfafae # F & w1 0F FE R 7
(a) p=039a1 |

(b) &« p=1

(¢) p=-23941 0

(d) ¥ p=-2

2.5 kg FEd H FHT 125%. § | kg T
H FHF 4 kg T HY FAT F T B |
14 kg T Y hrEa 1-5 kg 90 H 9= F
A B | 2 kg 9@ Y o=t F FHA Skg
7z (Riie W) & s= 8 | 11 kg 72 &
Fog =T # 7

(a) & 2310
b) & 3190
(c) ®. 4070

) % 4620

@ 1729 & day # fafafaa # @
HF O UF F49 98l © ?

(a) =W q ATeAS quifehl & T & TR H
&9 # gt fo@r 1 gt 8

=/ Q1 AT IR & TA] & 41 %
®q # F99 TH o FHR  forar S
AT B

= 3 AT qUTTeh o TAT & AN &
w9 # ad o wFR @ faan s awan
2

7R 3Y UFATeHS Juiieh & Bt & A F
w9 A Fad a1 W 3§ foran s g

2

(b)

(c)

(d)

A - SDC-S-TRD
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23.

24,

25,

A shopkeeper increases the cost price of
an item by 20% and offers a discount of
10% on this marked price. What is his
percentage gain ?

(a) 15%
(b) 12%
(¢} 10%
(d) 8%

There are two numbers p and ¢ such that
their HCF is 1. Which of the following
statements are correct ?

1. Both p and ¢ may be prime.

2.. One number may be prime and the
other composite.

3. Both the numbers may be com-
posite.

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

What is

I]+1+i-|rl+l+l+ +
e

equal to ?

2007¢ 2008~

1
(a) 2008 ———
2008

®) 2007 - —
2007

(c) 2007 - L
2008

(d) 2008 - 1
2009

SDC-S-TRD - A

26.

27.

28.

A person can row downstream 20 km in
2 hours and upstream 4 km in 2 hours.
What is the speed of the current ?

(a) 2 kmv/hour
(b) 2-5 km/hour
(¢) 3 km/hour

(d) 4 km/hour

Consider the following statements in
respect of positive odd integers x and y :

1. x* +37 is even integer,
2. X+ is divisible by 4.

Which of the above statements is/are
correct ?7

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

What are the roots of the equation

3
(a) 2,1- t'(;g[-i)

2
b 2,1- :'0&,{3}

log3

() 21 _(!ag2

log?2

d) -2,1-
(@ [!{)g3

https://www.pygonline.com



23.

24.

25.

T GHFCR U a6] & H4-7ed H 20% i
fig e & 3R Tk siferd H= W 10% 1
W2 &1 & | SO HIAAT ATH TR 7
(a) 15%

(b) 12%

(c) 10%

d) 8%

3 gETd p IR g W uaR § fF I
HCE, 1 2 | frafafaa & & =@ & @
Heé 2 ?

[. p 3R g TH! 39T B THd B

2. UF HEAl FAI HR @A AT 8
Tehdl 2

3. QAT HEATY AT B qal §
A= fed @ g W WM W FE TR
gfe
(a)an_clﬂlﬁ?Z
(b) Faw 2 3R 3
(c) Fae 1 3R 3
d 1,2 3R 3

1
\/1+ S 5 fores R 2 7
2007% 2008

1
(a) 2008 - ——
2008

1
2007 ———
®) 2007

1
(c) 2007 -——
2008

1
2008 - ——-
(@) 2009

26. TF =Afth ORI & FTEA (IIATE) 2 W H

27.

20 km AT YT B 3R ¥R & wiaga 2 6
# 4km 9 TAT R | U R =T FTE ?

@) 2 km /¥

(b) 2-5km/¥2&

(¢) 3 km/=eT

(d) 4 km/g

e faww quifet x 3Ry & o
Frafafaa wuat w) e fifs

1. x>+ |5 guiles 2
2. x2+y3,4ﬁﬁm‘%

| gudes waA # A A w /A w2/

28.

(a) e 1

(b) A 2

(c) 1 3T 2gMl
(@ A@1L,AE2

X
aHfiERor 252, 27x-1 =9 & ¥ 71 8 7

3
(a) 2,1- c'og[E]
(b) 2,1- Iog[%]

51| log3
(©) -2.1 [:’032]

log2
_2, 1-—
@ ( log 3}

A - SDC-S-TRD
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29,

30.

31.

32.

There are twelve friends 4, B, C, D, E,
F, G, H I, J, K and L who invested
money in some business in the ratio of
1:2:3:4:5:6:7:8:9:10:11:12
and the duration for which they invested
the money 1is in the ratio of
12:11:10:9:8:7:6:5:4:3:2:1
respectively. Who will get the maximum
profit at the end of the year ?

(a) Fonly

(b) G only

(¢) Both Fand G

(d) Neither F nor G

222+ 45 4 8% + 4% + 2% s djvisible
by which one of the following integers ?
(a) 3

(b) 5

(c) 7

(d 1

If 2p + 3¢ = 12 and 4p*+ 4pg — 3¢ = 126,
then what is the value of p+2¢g ?

(@ 3

21
b) —
25
(c) r
99
d —
@ Tg
The number of digits in 3" is n and it is

given that log,,3 =0-4771. What is the
value of n ?

(a) 13
(b) 14
(c) 15
(d) 16

SDC-S-TRD - A

33.

34.

3s.

What is the unit digit of 7'* 7
(a) 9
(b) 7
(c) 6
d) 3

If 4x + 3a = 0, then what is the value of

x* vax+a®  x?—gx+a’

2 -’ X +a

4
(a) _;c;

7
a

?

(b)

_32
Ta
24

Ta

(©)
()

Incomes of Mahesh and Kamal are in
the ratio 1:2 and their expenses are in
the ratio 1:3. Which one of the
following statements is correct ?

(a) Mahesh saves
Kamal saves

more than what

(b) Savings of both of them are equal

(c) Kamal saves than what
Mahesh saves

more

(d) It is not possible to determine who
saves more

36. X and Y entered into partnership with

Rs. 700-and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3 months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs. 726. How much of
this should X receive ? '

(a) Rs. 336

(b) Rs. 366

(c) Rs. 633

(d) Rs. 663
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29.

30.

31.

- (©

32.

A, B, C,D,EF G, HIJ K3R L
are fi 2, fael ot =g # wan
1:2:3:4:5:6:7:8:9:10:11:12%
greaTa # S A ok o sty & forg
e ST SHET A 12:11:10:9: 8
7:6:5:4:3:2:1 % |94 & 3d H
siftraaw arw foFd ww grm 7

(a) FadF

(b) Fad G

(c) eFt FIR G

(d IVFAVG

2]22_'__ 462+842+464+2I30 ﬁmﬁf‘@?{aﬂa
ey it & forerod 2 7

(a) 3

® 5

© 7

@ 11

afe 2p+3g=12 A 4p*+ dpg—3¢* =126
2, A p+2gFAAFTE ?

(@ 5

21

4

25

4

99
16

(®)

@)

3% & st ot pEE B 3R ue fomn e R
& log,3=04771R | n AT HATE ?
(a) 13
b) 14
() 15
d 16

11

33.

34.

3s.

36.

7' 3SR 7
(a) 9
(b) 7
(c) 6
@ 3

afe 4x +3a=0%, a

x2+ax+a2 xz—ax+a?‘

I3—03 x3+a3
FT © 7
4

Ja
7
a

hT HIH

(a)

(b)
32

Ta
24
Ta

(c)
(@

TR 3R A A HF 1:2 F FAGA H

?, N A& =T 1:3% I H B |

e s A d s T Tw ag 2 7

(a) Wew & S=d, T 6 5= § AU
2

(b) 37 At I TG TER B

(c) S ! a=d, TN it s9a | rfiren
2

(d) e TT FAT 6NF TG ¢ foh A siftren
FUd FaAT ©

X 3R Y AN €. 700 3R &, 600 & @0
T ARER! IF 94 § | 99 7B 915 X
9 €21 H1 2/7 T war # 3R free
T IE H 3/5 dF TE w1g TR #/ S
e | F T A AN E. 726 8 | 3@H
¥ foraar x =t firemn =nfew 2

(a) ®. 336

(b) ®.366

(¢) ®&. 633

d) ®.663

A — SDC-S-TRD
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37.

38.

39.

40.

A tank can be filled by pipe X in 2 hours
and pipe Y in 6 hours. At 10 a.m. pipe X
was opened. At what time will the tank
be filled if pipe Y is opened at 11 a.m. ?

(a) 12:45 hours
(b) 5:00 p.m.
(c) 11:45 am.
(d) 1i:50 am.

A train is ftravelling at 48 km/hour
completely crosses another train having
half its length and travelling in opposite
direction at 42 km/hour in 12 s. It also
passes a railway platform in 45 s. What
is the length of the platform ?

(a) 600 m
(b) 400 m
(c) 300 m
(d) 200 m

The speeds of three cars are in the ratio
2:3:4. What is the ratio between the
times taken by these cars to travel the
same distance ?

(a) 4:3:2
(b) 2:3:4
(c) 4:3:6
(d) 6:4:3

If the mean age of combined group of
boys and girls is 18 years and the mean
of age of boys is 20 and that of girls is
16, then what is the percentage of boys
in the group ?

(a) 60
(b) 50
(c) 45
(d) 40

SDC-S-TRD - A

41.

L=
k-2

43.

44.

The area of four walls of a room is
120 m®. The length of the room is twice
its breadth. If the height of the room is
4 m, what is area of the floor ?

(a) 40 m?
(b) 50 m?
(c) 60 m?
(d) 80 m?

T

. If a square of side x and an equilateral

triangle of side y are inscribed in a
circle, then what is the ratio of x to y ?

(a) \E
3

(b) \g
3

(c)

o[t &

(d)

The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1: 2. If the total surface area
is 616 cm’, what is the volume of the
cylinder ?

(a) 539 em’

- (b) 616 cm’

(¢) 1078 cm®
(d) 1232 cm’

A cubic metre of copper weighing
9000 kg is rolled into a square bar $ m
long. An exact cube is cut off from the
bar. How much does the cube weigh ?

(a) 1000 kg

1000
() —- ke

(c) 300 kg

500
(d) EN kg

https://www.pygonline.com



37. TE e, U XA 2R A R um r @

38.

39.

40.

(o)

6 T # W ST ahdl © | WiE: 10 St 9Ted
X @Yo T | g fran = s st afe
qET Y UTd: 11 &9 G A g ?

(2) 12:45 QUK
(b) 5:00 IS
(c)" 11:45 qafg
(d) 11:50 g&ig

U LT ST 48 km /=T & = @& 8, AUl
HaE @ It} s h O e H, N
o feam § 42 km/=e1 @ W@ @R,
125 # G € @ YR IRl © | 9% TH A
ew A A 45 s H oG B | wlewH i
ward foraet 8 ?

(a) 600m

(b) 400m

(c) 300m

(d 200m

ﬁ]ﬁﬂn‘lﬁﬁwaﬂaﬂmhl’,:f-}% | =
FRI R T THH g 7 A § R A
[HA T IS F1 8 ?

(@ 4:3:2

(b)) 2:3:4

(c) 4:3:6

(d) 6:4:3

afg g ok weferat & w&F wge ap
HeA Ay 18y g 3 dgal Y Y
e 20 AR gfHal Y 3y &1 WA 16 2,
ot wge § wgt it wfasaar 7 2 2

(a)
(b)

(d)

13

41.

43.

44.

. 't'i'ﬁ;' 41 x &l U Tt 3R 911 y

T R E TR ARt F A 120 m?
2 | TR darE Iht e f A R
afe T N F9E 4m 8, A el 1 &Awe
TR ?
(a) 40m’
(b) 50 m’
(c) 60m?
(d) 80m’

- .

=T e

i Uen
W@ﬁ‘gﬁ qmwﬁaaa’a%&aﬁ%
A x |y H A TR ?

(a) E
(b) \E

3
(©) 72—
(d) %
T o i Ao & 956 8 SEE 3R G

U8 & T AU 1:2 8 1Al g s
HATA 616 cm® ©, A S HT FTAA F4AT
27

(a) 539cm’

(b) 616cm’

(c) 1078 cm’

) 1232cm’

die F TH uq "X &, e aom
9000 kg &, 9 m w=TE HI T&F TR Rreet
Ao e 8 | @& S a7 @

foeehl @ wrer wran @ | 56 9 FT A9
frqm 2 ?

(a) 1000kg
1000

T
(c) 300kg
@ ke

A - SDC-S-TRD
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4S.

46.

47.

Into a conical tent of radius 8-4 m and
vertical height 3-5m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
1-96 m’ ?

(a) 264
(b) 201
(c) 132

(d) 105

Let ABC be a right angled triangle with
BC=5cmand AC=12cm. Let D be a
point on the hypotenuse -AB such that
ZBCD =130°. What is length of CD?

60

a) —cm
(a) 3
b) 17 cm
( 2
120
C —_— CIN
© 541242
120
d) ——= cm
( 5+124/3

Two circles touch externally and sum of
their areas is 1307 cm® and the distance
between their centres 1s 14 cm. What is
the difference in the radii of the circles ?

(a) 5 em

(b) 6 cm

(¢) 7 cm

(d) 8 cm

SDC-S-TRD - A

48.

49.

50.

S51.

In a circle of radius 3 units, a diameter
AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP?

(@) 3++/10: 3-410
(b) 3++/8:3-+8
(c) 3+4/3:3-43
(d 3:43

What is the number of rounds that a

wheel of diameter -~ m will make in

traversing 7 km ? :
(a) 3300
(b) 3500
(c) 4400
(d) 4900

A building is in the form of a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

contains 67%1 m’ of air. What is the
height of the building ?

(a) 6m

(b) 4 m

(c) 3m

(d 2m

The radius of the base and the height of
a solid right circular cylinder are in the
ratio 2 : 3 and its volume is 1617 cm’.
What is the total surface area of the
cylinder ?

(a) 462 cm’

(b) 616 cm’

(c) 770 cm’

(d) 786 cm’

https://www.pygonline.com



45.

46.

47.

S i v, fredt Brea 8.4 m aR
FHATR 397 35 m B, 7T & fohad w5
de et for s g €, af; wee e |
i & fou 1.96 m’ ST i sravaerdr & ?
(a) 264
201
(cy 132

105

w ifrn & T wwaw Byt ABC ®

el BC=5cm 3R AC=12cm®e | AF
wiferg @of 4B R s fag D3 waR € 6
ZBCD=30°8 | CD R = #1 8 ?

60 -
— cm

@

®) - em
2
120

= CIT1
541242

(c)

120

@ 541243 em

FE QI ared: W wQ § R IS
86! 1 AWRA 1307 em’ @, R I
aﬁ:i%agﬁ’?ﬁ@ 14 cm @ | 391
Frsamsil &1 AR |TR 7

(a) S5cm
(b) 6 cm
(¢) 7ocm

(d) 8 cm

15

48.

49.

50.

BWﬁ%m.%waﬂﬁﬁﬂTﬂAB,
2 THTS ST TS ST 1 P R ded: Wiowog
aRar e | afe AP>BP &, A AP T BP R
AT FT R 7

(@) 3++/10: 3-4/10

(b) 3++/8:3-4/8

(c) 3+-\)§:3—‘\6

@ 3:43

ST AR TS T, A 2 m A H
@W?kmﬁﬂﬁﬁﬂﬂﬂ%ﬁ:ﬁm
ST Y

(a) 3300

(b) 3500

(c) 4400

(d) 4900

TS TR d0F F AFR 7 3 TR © 6
Ao F AWM W AL o @ ¢ |
THRA I SR, S99 & IR @t FBear Y
= T R A # 674 mPEE R
ARG Y TS FTE 7

(a) 6m '

(b) 4m

(¢c) 3m

(d 2m

. U& 319 dageid ded & R i B

3R FEhl FAE HT I 2:3 8, AR
THHT FAAA 1617 cm® B | S & FA
BT SEhd #4917

(a) 462cm’

(b) 616 cm’

(¢) 770 cm’

(d) 786 cm’

A - SDC-S-TRD
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52.

53.

54.

SS.

The cost of painting a spherical vessel of
diameter 14 ¢m is Rs. 8008. What is the
cost of painting per square centimetre ?

(a) Rs. 8
(b) Rs. 9
(c) Rs. 13
(d) Rs. 14

If a quadrilateral has an inscribed circle,
then the sum of a pair of opposite sides
equals

(a) Half the sum of the diagonals

(b) Sum of the other pair of opposite
sides

(c) Sﬁm of two adjacent sides

(d) None of the above

A circle and a square have the same
perimeter. Which one of the following is
correct ?

(a) Their areas are equal

(b) The area of the circle is larger

- .
(c) The area of the square is 3 times
area of circle

(d) The area of the square is 7 times
area of circle

A drinking glass of height 24 c¢m is in
the shape of frustum of a cone and
diameters of its bottom and top circular
ends are 4 cm and 18 cm respectively. If
we take capacity of the glass as mx cm’,
then what is the value of x ?

(a) 824
(b) 1236
(c) 1628
(d) 2472

SDC-S-TRD - A

56. In an equilateral triangle another

57.

58.

59.

equilateral triangle is drawn inside
Joining the mid-points of the sides of
given equilateral triangle and the
process is continued up to 7 times. What
1s the ratio of area of fourth triangle to
that of seventh triangle ?

(a) 256 : 1
(b) 128 : 1
©) 64:1
(d) 16 : 1

Rain water from a roof 22mx20m
drains into a cylindrical vessel having
diameter of base 2 m and height 3-5 m.
If the vessel is just full, what is the
rainfall ?

(a) 3-5cm
(b) 3 cm
(c) 2-5cm
(d) 2 cm

The height of a cone is 60 cm. A small
cone is cut off at the top by a plane

parallel to the base and its volume is
(%4 the volume of original cone. What is

the height from the base at which the
section 1s made ?

(a) 15 cm
(b) 20 cm
(¢) 30 cm
(d) 45 cm

If two tangents inclined at an angle 60°
are drawn to a circle of radius 3 c¢cm, then
what is the length of each tangent ?

(a) 3+/3¢m

(b) V3 em
(c) 6 cm

(d) 2+/2cm
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52.

53.

54.

55.

14 cm =18 & T MEg 9= ] Faart
A i Fd v 8008 2 | Wi =7 iR
e A a2 7

(a) T 8
(b) &9
(c) ® 13

d)y ®

afe T Fqds # UF ddd 7, @ @@
ST S T I HT ANTEHSA AT

(a) Toarurf & @ &7 smen

(b) FALE A & TE A T A
(c) @ ATHH HATHT &1 TREHT

() I # ¥ A TG

TF 99 R TF = @ i e f |
frafafea s a s AT o w6t @ 7

(a) ST &% AR ©

(b) T T GEEA W

. 14

(c) aﬁ?ﬂé—ﬂm,‘nﬁ%wzﬂ%?ﬂ

?
(d) = HT &%, I F AAFA FHT 7 AT
2

T 1 U firema o 391 24 em 2 |
et o & o & aTaR @ 2, 6
Frae 3R R gaTeR T @ s e
4 cm IR ISGm%IHféﬁTFTTH?ﬁ&WET
axem'e, T xFTAA FT S ?

(a) 824

(b) 1236

(c) 1628

d) 2472

17

56.

57.

58.

59.

uF wwatg o & s, @ ™ wwErg
st =t emat & Aeafargan @1 e g
T GO IHETE P9 S T 8, R 9
wiRar 7 IR Y St @ | S B &
&R 1 HIq9 Prgst & gEhd |
I 7 7

(a) 256 : 1

by 128 :1
(c) 64:1
(d) 16 :1

22n1x20m?ﬁt{3€€§?fﬁ?m'fa-ﬁ3|32m
A & YR UF 3.5m 9% 9 TH
SRR 9= | e 8 | afg ar Sie-dte
R W T R, aet R gl R e

(a) 35cm

(b) 3cm

(c) 2-5cm

(d 2cm

T 9F H AT 60 cm T | THF ATUR F
AR T qe & Theh A R TS Il 9%
HIT AT 8, 3R ZHSHT I JA 9F F
ST T g7 © | SR & 98 S=7E 91 B
SRl 9T HIE T AT R ?

(a) 15cm

(b) 20cm

(¢) 30cm

(d) 45cm

afe 60° & @ W gl 7 @ el e
&l 3cm B a9 s 9v & foag fafe
forar star 2, o weds wef T
TR 7 :

(a) 3+/3cm

(b) +/3cm

(c) 6cm

(d) 242 cm

A - SDC-S-TRD
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60. What is the volume of a sphere of radius (a) n

3cm ? Xy

(a) 367 cm’
3 o 2

(b) 187 cm
(c) 97 cem’ () e
y

(d) 6mcm’
@ =

61. The sides of a triangle are given by n

Ja2 +b2, A2 +a2 and (b+¢) where

For the next three (03) items that follow :
a, b, ¢ are positive. What is the area of (03)

the triangle equal to ? A tent of a circus is made of canvas and is in

the form of right circular cylinder and right

[2,.2, 2 circular cone above it. The height and
a“+b" +c ) g

(a) : diameter of the cylindrical part of the tent are

2 5m and 126 m respectively. The total height

of the tent i1s 21 m.

x’azbz +b%c% + czaz

e
®) 2 64. What is the slant height of the cone ?
a(b+c) (@) 60 m
© = (b) 65m
(©) 68 m
22 22 2 2
(d) \IB{a b +b"c” +c“a”) @ 70m

2 .
' 65. What is the curved surface area of the

62. What is arca of largest triangle inscribed cylinder ?
in a semi-circle of radius » units ?

(a) 1980 m’
(a) 7 square units (b) 2010 m?
(b) 2+ square units (c) 2100 m’
(c) 3+ square units (d) 2240 m’

d) 4r* square units
@ 1 66. How many square metres of canvas are

used ?

63. The diameter of the front wheel of an (a) 14450

engine is 2x cm and that of rear wheel 18
2y cm. To cover the same distance, what (b) 14480
is the number of times the rear wheel () 14580
revolves when the front wheel revolves
n times ? (d) 14850

SDC-S-TRD - A 18
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60.

61.

62.

63.

39+ Bt aret s ek F1 smaee faar
27

(a) 367 cm’

(b) 187 cm’

(c) 97 cm’

(d) 67 cm’

frft B ft spnst W yal 462,

Vet +a? 3R (b+c) g uen o
&, T8l a, b, c TTTHE § | Brsgst 1 et
forad sqat 2 7

'\.‘az +b2 +c?

2

(a)

\/azbz + bzcz +ctat

(b) >

a(b+c)
2

(c)

J3(a%? +8%2 +2a?)
2

d

R wed w3 B w1 w7

(@) ~ = s
®) 27 =t
(c) 3¢ aif seran
(d) 4 aof g
e 591 & 3 9fed &1 = 2xem @ 3R

ﬁ@ﬁﬁaﬂm2ycm% IWW@
T A & fou e afed @t foraet ax

AT g, afg sw afeE o 9w e @ 2

19

ny
® =
(©)
@ 2

A T (03) wyATAt & fou o A=
™ E -

TF WA FT 6] F7ad & 571 8 | 98 o
TG S & &9 H §, ek Iw = e
F T | TG h ATEEHR AR R IR IR
=E HAM Sm AR 126 m B | T A F
AR 21 me |

64. 3iF Ht fxat S fhaet 8 ?
(a) 60m
(b) 65m
(c) 68m
(d) 70m

65. ST FT a5 YEIA GG a8 7
(a) 1980 m?
(b) 2010 m’
(c) 2100 m?
(d) 2240m’

66. Torae Thex F=w wgTh gam ?
(a) 14450
(b) 14480
(c) 14580
@) 14850

A — SDC-S-TRD
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67.

68.

69.

70.

The wheels of a car are of diameter
80 cm each. The car is travelling at a
speed of 66 km/hour. What is the
number of complete revolutions each
wheel makes in 10 minutes ?

(a) 4275
(b) 4350
(c) 4375
(d) 4450

What is the area of a triangle with sides
of length 12 ¢m, 13 cm and 5 ¢m ?

(a)
(b)
(c)
(d)

30 cm®
35 ¢cm’
40 cm’

42 cm’

If the perimeter of a:circle is equal to
that of a square, then what is the ratio of
area of circle to that of square ?

(a) 22:7
(b) 14:11
(c) 7:22
(d) 11:14

ABCDA is a con-cyclic quadrilateral of
a circle ABCD with radius r and centre
at O. If AB is the diameter and CD is
parallel and half of 4B and if the circle
completes one rotation about the centre
O, then the locus of the middle point of
CD 1is a circle of radius

@ 3
b =
®) 3

SDC-S-TRD - A
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71.

72.

73.

2«:@‘

(c) 3
3r
@5

If sin6+-::050=-21, then what 1s

sinf - cosf equal to ?

(@ 0
b L
®) 3
) 1

d 2

If sinx+sin’x=1, then what is the
value of cos® + 2cos®x + cos'x ?

(@) 0
(b) 1
() 2
(d) 4
A man from the top of a 100 m high
tower sees a car moving towards the
tower at an angle of depression 30°.
After some time, the angle of depression

becomes 60°. What 1s the distance
travelled by the car during this time ?

10{}\@ m

20043

3

100~/3
3

(a)

(b)

m

(c)

m

(d) 200+/3m

https://www.pygonline.com



67.

68.

69.

70.

Q%Wﬁimﬁﬁaﬂw%cm%l
FR 66 km/ET R 1T T T @ | TS
afear 10 firre # fraet ar gof gofa a=ar
g7

(a) 4275

(b) 4350

(c) 4375

(d) 4450

12cm, 13 cm 3R 5 cm ww=TE &t el
Tl G BProgst &1 e fopaan @ 2

(a) 30cm?

() 35cm’

(c) 40cm’

(d) 42 cm?

afe u& ga &t afkfy ww wof 6 wfomm &
SR B, &l 99 & 86 T, a1 F S
& °TF I FAT BT ?

(a) 22:7

(b) 14: 11

) 7:22

d 11:14

» Bt 3k O 3 T @ 79 ABCD
Th TH<T FgHF ABCDA R | 981 AB

A 8, AR CD T TR iR AB &
e @ | af 39 ¥ 0F IR R T i

T AT R A CDF ey forg o faregum,
frat Pt ow ga @ 2

(@) —

) —

71.

72.

73.

(c)

Z\Er
3

3r
2

(d)

afe Sin9+0059=—\2j g, al

sinf — cosf ﬁh‘ﬂﬁ:ﬁ?ﬁ?% ?
(a) 0

1

®) 5

(c) 1
@ 2

afe sinx + sinx = 1 8, At

cos’x + 2cos’x + cos*x T WA FAT R ?
(a) 0

(b) 1

(© 2

@ 4

100 m 39 T 2R & W & U ey 30°
ETAT HI W Th FR I 2R Y 7R A
B QEdl § | 9 9WY W1Q, ATAET FHI0
60° B 1ET 8 | 307 9998 &R gRI 99
Tt gt TRt @ 2

(@) 10043 m

20043
m

(b) 3

10043
— N

(c) 3

@ 200v3m

A - SDC-S-TRD
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74,

75.

76.

77.

SDC-S8-T

Two men on either side of a tower 75 m
high observe the angle of elevation of
the top of the tower to be 30° and 60°.
What is the distance between the two
men 7

(a) 100V/3m
(b) 75v3 m
10043

3

m

(c)

(d) 6043 m
What is the value of
cosec?68° + sec’S6° — cot?34° — tan®22° ?
(a) O
1
b L
(c) 1
@) 2
If 2y cosO = x sin@ and

2x secf — y cosecl = 3,
then what is x* + 4y* equal to ?

(a) 1
(b) 2
(c) 4
(d) 8
If sin@+ cosf = H—;—E where 0< @ <%,

then what is tan@ + cot@ equal to?

3

(a) 2

|
(b)'ﬁ
RD -

A

22

78.

79.

80.

© 3

4

[E——

If 4=sin’® + cos*® where 0s8<%,

then which one of the following is
correct ?

(a)
(b)

(c)

@ 2<a<t

4 16
cotA+cosec 4A—1
cotA—cosec A+1

What is equal to ?

1+cos A

(a)

sin A
- A
(b). 1—cos

sin A

l+sin 4
cos A

(c)

1-sin A4
cos A

(d)

Consider the following :

1. sin 1° > sin 1°

2. cos 1° < cos 1°

3. tan 1° > tan 1° |
Which of the above are not correct ?
(a) 1 and 2 only

. (b) 2 and 3 only

(c)
(@) 1,2and3

1 and 3 only

https://www.pygonline.com



74.

75.

76.

77.

75 m 3 Teh TEK F Sl al® @ of ATSHl
AR & 9 o T9aT &0 ST 30° 3R 60°
w1 E | IF amehe ¥ e 6 g
fepat 2 2

(a)
(b)

1{}0\6 m
75'\5 m

-
10043

3

(c)

m

(d) 60V3m

cosec’68° + sec?56° — cot?34° — tan?22° &1
HE T ?

(@ 0

(b) %
() 1
d) 2
afe 2y cosf=xsin 3R

2x sec -y cosecO =3 &,
ar x’ + 4y foreeh sREER B 2

(@) 1
(b) 2
(c) 4
(d) 8
afg sin@+ cosh= ‘F%aﬁro 9<E
g, Tl tand + cotd %H?:FW%?

(a)

(b)

23

78.

79.

80.

) 3

@ -

V3

g 4 = sin*0+ cos* 0%, e U£9<—Z— 2,
@t P sl o it 2 2

(a) 1< 4<2

(b)

ESASI
4

Pz
16

Scact
4 16

(c)
@

cotAd+cosecA—1
cotd—cosec A+1

(a)

1+cos A
sin A

l-—cos 4
sin 4

®)

1+sin 4
cos A
1-sinA
cos 4

(c)

@

FET B ?

frafafas = fer Hifsrg

1. sin 1° > sin 1€

2. cos 1° < cos 1°

3. tan 1° > tan 1€

I A A FH A ad A § 7

(@) Haa 1 IR 2
(b) awr 2 3R 3
(c) a1 3 3
(d 1,2 3R 3

https://www.pygonline.com
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2 3 o o 84. A pole stands vertically inside a
81. If tan x+tan I—2 and 0% <x <907, triangular park ABC. If the angle of
then what is the value of x ? elevation of the top of the pole from
each corner of the park is same, then in
(a) 15° the triangle ABC, the foot of the pole 1s
at the
(b) 30°
(©) 45° (a) Centroid
(d) 60° (b) Circumference
82. If the length of the shadow of a tower is (c) Incentre
equal to its height, then what is the Sun’s _
altitude at that time ? (d) Orthocentre
(a) 15°
85. What is the value of
(b) 30° tan1°tan2°tan3°tan4°® . . . tan89° ?
45°
(c) 45 (@) 0
(d) o0°
(b) 1
83. Consider the following :
(c) 2
| cos 75° N sin 12°  cos 18° _ I
sin 15°  cos 78° sin 72° (d) 3
5. COS 35° sinll° _
" sin 55° _cos 790 86. The average score of class X ¥s 83.
o 20 = 1 The average score of class Y is 76.
cos 28° cosec 627 = The average score of class Z is 85.
_ The average score of class X and Y is 79
5 sin 80° —sin 59° sec 31°=0 and average score of class Yand Z 1s 81.
cos 10° What is the average score of X, Yand Z?
i 2
Which of the above are correct (a) 815
(a) 1 and 2 only
(b) 80-5
(b) 2 and 3 only
(¢) 1 and 3 only () 790
(d) 1,2 and 3 (d) 780
SDC-S-TRD - A 24
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81.

82.

83.

=2 3R 0°<x<90°%g,

qﬁ' tan2x+

tan“x
D xFTHAA TS ?
(a) 15°
(b) 30°
(c) 45°
d 60°

afe frdt a/ar Y BEr F T=E Iqdh
AT % R B A 3§ wH R gd
IAaIy feqar 2 2

(a) 15°
(b) 30°
(c) 45°
d) 60°

frafafes w famr ifs

cos 75°
" sin 15°

sin 12° _ ¢os 18°
cos 78° sin 72°

cos 35° B sin 11°
sin 55° cos 79°
cos 28° cosec 62° =1

sin 80°
cos 10°

ST # q A A wE § 2
(a) *ad 1 3R 2
(b) Fa«2 3R 3
(c) &A1 3R 3

3, —sin 59° sec 31°=0

(d) 1,2 3K 3

84.

85.

ue Fretoiia a1 (STW) ABC & ek v
w9 AR TeT ® | afe uidh F vldw w
[ w9 & 9 it F==ar F1 wIor v 2,
ar BT ABCH w9 &7 q1e FEl W ?

(a) Feeh
o et
(b) Tri™

(c) d: Sheg

(d) & g

tanl® tan2° tan3° tan4° . . . tan89° &1 HH
TR ?

(@ 0

() 1

86.

(c) 2

@ 3

FET X &+ offaa 3 83 ¢ | Fen ¥ & sitaa
IH 76 € | TEAT Z & 3 3k 85 § | HET
X 9R Ferr ¥ & 3ffaa 3w 79 B, 3k wen
Y 3R & Z % sited st 81% | X, Yaik
7 & 3Ed IS |\ ?

(a) 815
(b) 80-5
© 790
d) 780

A - SDC-S-TRD
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87.

88.

89.

90.

For x>0, if a variable takes discrete
valuesx+4,x~- 35, x-25x-3,x-2,
x+0-5, x~0-5, x+5, then what is the
median ?

(a) x-1-25
(b) x-05
(¢) x+05
(d) x+1-25
The median of set of 9 distinct
observations: is 20-5. If each of the
largest 4 observations of the set is

increased by 2, then the median of the
new set

(a)
(b)
(c)
(d)

is increased by 2

1s decreased by 2

is two times the original median
remains the same as that of original

set

A cricketer has a certain average of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his
average by 6 runs. What is his new

average ? https://www.pygonline.com
(a)
(b)
(c)
(d)

42
47
48

60

The mean of 20 observations i1s 17.
On checking it was found that the two
observations were wrongly copied as
3 and 6. If wrong observations are
replaced by correct values 8 and 9, then
what 1s the correct mean ?

SDC-S-TRD - A
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91.

92.

93.

(a) 17-4
(b)
(c)

(d)

166

15-8

14:2

Number of credit cards held by an
individual can be treated as

(a) Qualitativg: data

(b) Discrete data

(c) Categorical data

(d) None of the above

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of

the complete class is 72, then what is the
average marks of the girls ?

(a) 64
(b) 65
(c)
(d) 74

68

A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular

e ke

108° angle at' the centre. What is the
percentage of income from corporate tax
to total funds ?

(a) 20%
(b) 25%
() 30%
@) 35%

https://www.pygonline.com



87.

88.

89.

90.

x> 0 foru, afe we ==, fafm v x + 4,
x—35, x-25, x-3, x-2, x+05,
x—05,x+59d1 8, d AEHHT |7 ?

(a) x—-1:25
(b)
(c)

A\ v 4 1,
iy A 0L

x-05
x+0-5

[

&5
ot

9 T Sreqort & weea i wifee 2052 |
afe gg=a & 498 79 Ve § | TS
1 2 37! | g1 fean S A T s
ATfereT

(a) 2% =g St 2

(b) 29 =z T

(c) T wfeirhT 1 g @

(d) 7@ w=aa fit AfersT & auE /)
Tl 8

s e faemet 10 wiferl &1 s
fafera stma ) wawed! 9t # SEm
108 s, fSraa Sae sitad 6@ @ =12
AT | IHSHT AT ST AT ?

(a) 42
(b) 47
(c) 48
(d) 60

20 VeIV KT WIEA 178 | STE FA R T
a3 G Rt B (9 |) 3 SR 6%
€9 H TAd IART AT AT | Ffe T N &
¥ W e 7 8 3Rk 9@ A v E, @
e "Iy TR ?

27

91.

92.

93.

(a) 17-4
(b)
(©)

(d)

16-6
15-8
14-2
el =R grT <@ ST Y el FF
Tl sl frgeg d AT smasar @ 7
(a) IOTCHS o<l

(b) fafees 2=

(c) @afifaea

(d) I & & F T

100 faarfifal &t s wen # 70 7= &,
e = fawa # sitea s 758 | afe
qrqul et & 3itad 3k 72 8, 91 et &
sftad 3w foram 8 7

(@ 64
(b)
(©)
(d)

64
65
68

74

UF goae, et wea & ge fifh &
it i Tt & fafime aval & saw
qUTAT § | ot o forg ge=r &1 uw
fasy &, I W 108° &1 T T § |
Al W F Fa fFfy F g s Hi
ufseraar Fm @ ?

(a) 20%
(b)
© 30%
d) 35%

25%

A — SDC-S-TRD
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9%4.

95.

96.

97.

Consider the following statements :

1. The classes of type 15-19, 20-24,
25-29 etc. are exclusive classes.

2. The classes of type 15-20, 20-25,
25-30 etc. are inclusive classes.

Which of the above statements is/are
correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Suppose the class interval 10-15 has

frequency 30, then what is the frequency
density of this class interval ?

(a) 2
(b) 3
(¢) 5
(@) 6
Let S be a set of first ten natural
numbers. What is the possible number of
pairs (a, b) where a, b € Sand a # b

such that the product ab (>12) leaves
remainder 4 when divided by 12 ?

(a) 4

(b) 6

(c) 8

(@ 10

What is the remainder when
13°+14°+15°+16° is divided by 29 ?

(a) 8
(b 5

SDC-S-TRD - A

98.

99.

100.

(c) 3
(d) 0
What is the difference between the sum

of the cubes and that of squares of first
ten natural numbers ?

(a) 2280
(b) 2640
(c) 3820
(d) 4130
A motorist travels to a place 150 km
away at an average speed of 50 kmv/hour

and returns at 30 km/hour. What is the
average speed for the whole journey ?

(a) 35 km/hour
(b) 37 km/hour
(¢) 37-5 km/hour
(d) 40 km/hour

If x+ i =2, then what is x

14+ ——-
2+l
3

equal to ?

(b) 5
() =

d

https://www.pygonline.com



94.

9s.

96.

97.

frrafoafas saat w fmm $ifo .

1. 15-19, 20-24, 25-29 3fe WHR
F aif, svafefa =i § |

2. 15-20, 20-25, 25-30 3mfe WaR
& =, safde a7 € |

STh # | S G1/8 99 e 2 /% ?

(a) %A |

(b) et 2

(¢) 13K 2gMt

(d TA1L,TE 2

AW «ifg & = s=we 10-15 &
TRARAT 30 B, @ W A vl
SRERAT 9ed o @ ?

(a)
(b)
(c)
(d)

a g for S, wom | vl weat @
T @ =ad © | T (a, b) i wwTfea wEm
W%,H%Ta,be.ﬂﬁ?a#b%w%%
AR ab (>12) 1 128 Frfim w0 w®
INEA 4 B § ?

(@) 4

b) 6

(c) 8

@ .10

S b W b

13%+14°+15°+16° =1 29 & fasnfoa &3
A IR OVFS FIT BT © 7

(a) 8
®) 5

29

98.

99.

100.

(c) 3
d o

WIH qH S99 GEAT3AT % AT ok ARTHA AR
Ik T & GRIRA & S BT A= fehern
g e ?
(a) 2280
(b) 2640
(c) 3820
(d) 4130

T AR e 150 ot 8w w1
araT 50 fot /=2 i st ofa @ = @
3T 30 ferett /=2 <t ey & ofean & | wegef
ar & forw sitag wfy frat & 2

(@) 35 km/*@T
(b)
(©)
@

37 km/=eT
37:5 km/9eT

40 km/=eT

afe x+ 11
I+—
2+—
3

@ x fras R R

:2%1

7

@ T

13

® T

11

(©) T

17

@ 15

A — SDC-S-TRD
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w&mmﬁwﬁmg@m@ﬁ#aﬁ#wmaﬂwaaﬁ

" A :SDCSTRD T qiew s

wdteror feaa
TR it

PP - | ol : 100

10.

SR
Then WG B F g W11, AW 38 gl gfeaer f ugare sava W | R ged wg e
w,mmwgﬂtwmmwwﬁﬂﬁlﬂﬁi{m%,?fta‘&'aéﬂﬁmg%mﬁmﬁl
Foar A & fs OMR Iwe-veres #, I v w, de wree ot e gitae s A, B, C o
D, m%@ﬁmﬁ:ﬁﬁmmﬁmﬁr&ﬂﬁaﬂtwmﬁ'ﬁﬁwﬂmﬁmﬁ% | forelt
ot w0 e /ety fr ety § sw-umew feea = R s |
0 Wiaw gfers W ag § fu g wies § e
maﬂmﬁ%@m%lqﬂmgﬁmmaﬁtw
afd )
gﬂqﬁmg%mﬁmonﬁm(mﬂ}ﬁt{‘ﬂ%Ivrﬁaaﬁuwm%ﬁaﬂimaﬁﬁw%lmum1
# 9R wege (IR fow 7w & | o & O e B A o, Py IR-wE W sifE wen wwed ®
af et T ot 6 o A arfie woeR e €, @ 99 wogeR & sifeRa R et wEton @ | WS
WY % forg e o e g 2 |
FI9H F9 wH egeR Ao @ o g IR-ve WA SifhT FA ¥ | Iw-ws # fon g fadw 3w
w3t vyt ¥ o wwE 8 | |
7a® ot T amg ghew gfere & fafir wil F TR SIWR-1F R HTET FAT  E X, IR w4y
TE-T 3 T S Rt & HER 59 e Jee-oe § 2 ¥
AT I w9 ol ) SR-UEE # R & g a7 WA S e R Fad IO-UH AHies w1 9
F 1 A F W qhee e & o At 2
Fed FW & forg yae wiewr gieea & 3= § w9 § |
aeqfres wea-uEt # gwiear grT i o e S & fog qve R s |
() wEE 9 F g 9 e TR E | eulteaR gRT Wl we & forg fon T ve e 3R & forg
Wy ¥ foom o T st o1 - TovgTe TR & ww H arer s | _
(i) af: F Ieficar v & aAaftre I T 2, A W A wu AT STo, =iy fay e 3w A W
TF I € wlar 8, FR S 98 e & fog Irgergar € St ate @ qvs R s |
(i) R I=fiear TRT FE W g AN A W a»ﬁanﬁmwaﬂtﬂﬁﬁmﬁm?%ﬁ‘fﬂﬂ
T & forw = gve wd e smom |

WE aF ATAHT g TAer ferdT GraR w1 7 FET 9 a7 aF 7 i

Note : English version of the instructions is printed on the front cover of this Booklet.
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